## PURCHASE ORDER

## TEXAS A&M FOREST SERVICE PURCHASING DEPARTMENT

Order Date 08/23/2023

Page 01

200 Technology Way, Suite 1120, College Station, TX 77845-3424; Phone 979-458-7380, FAX 979-458-7386

(Include this number on all correspondence and packages) P300413

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR **EXCEED SPECIFICATIONS IN** THE BID INVITATION.

TEXAS A&M FOREST SERVICE HUDSON OFFICE 155 TEXAS FOREST SERVICE LOOP LUFKIN TX 75904

**VENDOR** 

17516310032 MCWILLIAMS & SON INC 7642 S US HIGHWAY 59 BURKE, TX 75941-4404

ALL TERMS AND CONDITIONS SET FORTH IN OUR BID INVITATION BECOME A PART OF THIS ORDER.

SHIP TO:

INVOICE TO:

TEXAS A&M FOREST SERVICE HUDSON OFFICE 155 TEXAS FOREST SERVICE LOOP LUFKIN TX 75904

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M FOREST SERVICE PURCHASING DEPARTMENT PRIOR TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

Item	Description	Quantity	UOM	Unit Price	Ext Price
	USER REF: 000000-KZS				
1	base charge for replacement of swere line 15'-25' price incudes up to the first 25' of new sewer line. Also includes excavation either by hand digging or excavator at the discretion of the plumber completing install	1	LOT	2,342.000	2,342.00
2	replace sewer line price per foot for piping between 126' to 200'	150	FT	35.000	5,250.00
3	hydro jetting - price for 2 hrs quipment use only if you go over use add on price for next 2 hrs. Includes free camera inspection after completion to see what cause the stoppage	1	LOT	840.000	840.00
4	install clean out outside home (no excavator needed) hand dig 3'-4- deep. price includes 5' of pipe, 2-fernco's, & 2-way clean out with clean out cap up to 5"	3	LOT	1,168.000	3,504.00
5	replace 600' of sewer line	600	FT	15.000	9,000.00
6	haul and install backfill material for pipe bed & compaction	11	LOT	487.000	5,357.00
7	equipment rental	1	LOT	2,153.000	2,153.00
8	discount off original work	1	LOT	2,000.000-	2,000.00
				TOTAL	26,446.00
	**** NET 30 ****				
	NOTE TO VENDOR:				
EC					

DESTINATION FRT INCLUDED FOB:

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions nor cancellations permitted without prior approval of Purchasing Department.

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Texas Tax Code, Section 151.309 (4), for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

The Terms and Conditions of the State of Texas shall prevail.

THIS ORDER IS NOT VALID UNLESS SIGNED BY THE PURCHASING AGENT

Comm 111 PURCHASING AGENT FOR

Terms:

**TEXAS A&M FOREST SERVICE** 

## **PURCHASE ORDER**

TEXAS A&M FOREST SERVICE PURCHASING DEPARTMENT Order Date 08/23/2023

Page 02

200 Technology Way, Suite 1120, College Station, TX 77845-3424; Phone 979-458-7380, FAX 979-458-7386

Purchase Order (Include this number on all correspondence and packages)

P300413

VENDOR GUARANTEES
MERCHANDISE DELIVERED ON
THIS ORDER WILL MEET OR
EXCEED SPECIFICATIONS IN
THE BID INVITATION.

TEXAS A&M FOREST SERVICE
HUDSON OFFICE
155 TEXAS FOREST SERVICE LOOP
LUFKIN TX 75904

**VENDOR** 

17516310032 MCWILLIAMS & SON INC 7642 S US HIGHWAY 59 BURKE, TX 75941-4404 ALL TERMS AND CONDITIONS SET FORTH IN OUR BID INVITATION BECOME A PART OF THIS ORDER.

SHIP TO:

TEXAS A&M FOREST SERVICE HUDSON OFFICE 155 TEXAS FOREST SERVICE LOOP LUFKIN TX 75904

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M FOREST SERVICE PURCHASING DEPARTMENT PRIOR TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

n	Description	Quantity	UOM	Unit Price	Ext Price
	"SHIP TO" AND "INVOICE TO" ADDRESSES MAY DIFFER. FAILURE TO SUBMIT INVOICE TO PROPER ADDRESS MAY RESULT IN DELAYED PAYMENT.  EXEMPTION: INDETERMINANT INTERNAL REPAIRS PLUMBING REPAIRS FOR HUDSON, TX LOCATION VENDOR INVOICE #142924977 IS ATTACHED STANDARD AGENCY TERMS & CONDITIONS APPLY VENDOR QUOTE: 142924977 VENDOR REF: MCWILLIAMS & SON INC Purchase made by an Institution of Higher Education, Section 51.9335 Education Code.  CC FY ACCOUNT NO. DEPT.  11 2023 124019-00000-5543 ETXR  DOCUMENT DATE: 08/23/2023  DEPT.CONTACT: KEVIN RUNNELS PHONE NO.: 936-546-8010  PCC CD: 9  TYPE FUND: TYPE ORDER:	Country		26,446.00	EXTING

Texas A&M Forest Service cannot accept collect freight shipments.

FOB: DESTINATION FRT INCLUDED

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions nor cancellations permitted without prior approval of Purchasing Department.

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY

The State of Tours is execut from all Federal Excise Texas

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Texas Tax Code, Section 151.308 (4), for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

The Terms and Conditions of the State of Texas shall prevail.

THIS ORDER IS NOT VALID UNLESS SIGNED BY THE PURCHASING AGENT

hum E Cumm M

Terms:

**TEXAS A&M FOREST SERVICE** 



McWilliams And Son Inc. 7642 U.S. 59 Burke, TX 75941 Phone: (936) 639-1668

BILL TO
Texas A&M Forest Service.
155 Texas Forest Service Loop
Lufkin, TX 75904 USA

INVOICE 142924977 INVOICE DATE Aug 18, 2023

JOB ADDRESS

Mechanic shop 4th building 155 Texas Forest Service Loop Lufkin, TX 75904 USA Completed Date: 8/18/2023

Technician: Drake S.
Technician: Hector L.

Technician: Joey H.

Technician: Joshua S.

Technician: Tristan R.

Payment Term: Net 30 Due Date: 9/17/2023

## DESCRIPTION OF WORK

**Building Sewer** 

First job scope- 150' sewer replacement with additional cleanouts.

After initial job completed plumber ran camera and found additional stoppages due to collapsing pipe and multiple bellies.

Original sewer line is cast iron that has been reworked with Nuflow type system, both of which have failed due to age. Below job scope is recommendation to remediate the same problems in the future.

2nd additional job scope to complete replacement of sewer line. Replace 600' of sewer line, set in select back fill and compact under road areas where heavy equipment and vehicles travel. We will ensure all fall is shot in and drainage is up to code. We will install cleanouts every 100' to ensure any future stoppages can be reached and cleared due to the nature and length of sewer line.

We will run Building Sewer on a 1.0 percent grade or %" per foot fall towards tap. We will install the sewer in accordance with the International Plumbing Code and we will tie it into the city tap or septic system with clean out at the location of tie in. We exclude haul off of additional dirt due to select backfill being utilized. We will spread out to original grade once all backfill has been made. We will plug off the system at the tap and test the system before backfilling to ensure quality and safety regardless of geographical location or directions of municipalities. We will backfill and grade trenches back to natural grade but we exclude any seeding, sodding or replacement of vegetation.

If any unforeseen issues arise that cause job scope to deviate outside of this initial proposal, customer will be notified immediately. Once discussed with customer and additional work is approved, work will commence.

TASK

DESCRIPTION

QTY

PRICE

TOTAL

BaseSWRLINREPLC	Base Charge for Replacement of Sewer Line 15'-25' This Price includes up to the the first 25' of New Sewer Line. It also includes Excavation either by hand digging or excavator at the discretion of the plumber completing the install.  If in city don't forget to select permit task.	1.00	\$2,342.00	\$2,342.00
	Includes 2 Cleanouts			
3SWRLINREPLCLVL	Replace Sewer Line price per foot for piping between 126' to 200'	150.00	\$35.00	\$5,250.00
LD1	Longest Day Donation \$1/\$5/\$10. Thank you for your donation to the Alzheimer's Association.	1.00	\$0.00	\$0.00
Hydro Jetting	<ul> <li>Price for 2 hours of equipment use only. If you go over use add on price for the next 2 hours.</li> <li>Launch Hydro Jet machine to restore flow for tough stoppages (200')</li> <li>If the line is blocked or broken to the point that hydrojetting will not clear the line, we will set up a free camera inspectio &amp; estimate to repair or replace the line.</li> </ul>		\$840.00	\$840.00
	Includes free camera inspection after completion to see what caused the stoppage.			
INSTLCO2	Install Clean out outside home (no excavator needed) hand dig 3'-4' deep. Price includes 5' of pipe, 2-fernco's, and 2-way clean out with clean out cap up to 4".	3.00	\$1,168.00	\$3,504.00
3SWRLINREPLCLVL	Replace 600' of sewer line	600.00	\$15.00	\$9,000.00
S-PlumbingQuote	Haul and install backfill material for pipe bed and compaction	11.00	\$487.00	\$5,357.00
S-PlumbingQuote	Equipment rental	1.00	\$2,153.00	\$2,153.00
DOLLARDISCOUNT	discount off original work	1.00	\$-2,000.00	\$-2,000.00
		SUB-TOTAL TAX		\$26,446.00 \$0.00
		TOTAL DU	E	\$26,446.00
HVAC - "Regulated	by the Texas Department of Licensing and Regulation,	ALANCE DU	E	\$26,446.00

P.O. Box 12157, Austin, TX,78711, 800-803-9202, 512-462-6599"

TACLA2150C, TACLA36670E, TACLA90183C, TACLA98949E

Plumbing - Regulated by Texas State Board Of Plumbing Examiners, P.O. Box 4200, Austin, TX 78765, FAX (512) 450-0637,

OFC (512) 936-5200"

RMP#40618

**CUSTOMER AUTHORIZATION** 

I authorize the repairs as listed above for a total of \$8,432.00.				
Sign here	Date 8/4/2023			
CUSTOMER ACKNOWLEDGEM	ENT			
I acknowledge the repairs as lis	ted above for a total of \$26,446.00 have been completed.			
Sign here	Date 8/4/2023			